
MTB > let k1=c4(1)
MTB > let k2=c4(2)
MTB > let k3=c4(3)
MTB > let k4=c4(4)
MTB > let k5=c4(5)
MTB > let k6=c4(6)
MTB > let k7=c4(7)
MTB > let k8=c4(8)
MTB > let k9=c4(9)
MTB > let k10=c4(10)
MTB > let k11=c3(1)
MTB > let k12=c3(2)
MTB > let k13=c3(3)
MTB > let k14=c3(4)
MTB > let k15=c3(5)
MTB > let k16=c3(6)
MTB > let k17=c3(7)
MTB > let k18=c3(8)
MTB > let k19=c3(9)
MTB > let k20=c3(10)
code (k1:k11) 1 (k2:k12) 2 (k3:k13) 3 (k4:k14) 4 (k5:k15) 5 (k6:k16) 6
(k7:k17) 7 (k8:k18) 8 (k9:k19) 9 (k10:k20) 10  c1 c10



MTB > tally c10;
SUBC> store c12 c8.

Summary Statistics for Discrete Variables
     C10  Count
       1     39
       2     50
       3     50
       4     54
       5     62
       6     49
       7     56
       8     53
       9     36
      10     51
      N=    500

MTB > let c9=((c7-c8)**2)/c7
MTB > sum c9

Column Sum

   Sum of C9 = 10,480





MTB > PDF c14 c15;
SUBC>   Gamma 10 2,020.
MTB > pdf c14 c16;
SUBC> gamma 9 2,245.




